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Math 8
SOLVING MULTI-STEP EQUATIONS
Problems 1 -  17, solve each of the equations. If it has one solution, check. If it has a no solution or an infinite number of solutions, state that it does. Show work.

1.   Circle the best choice. Still need to show work. 
        3( x  +  4 )  =  21




A.   11









B.   3









C.   no solution









D.   infinite
2.   Circle the best choice. Still need to show work.
       2( x  +  3 )  =  - 2( x  +  3 )



A.   - 3









B.   0









C.   no solution










D.   infinite
3.   y  +  30  =  12y  -  14

4.   5z  +  2  -  10  =  7z  -  8  -  2z 

5.   3( n – 1 )  =  5n   +  3  -  2n
6.   [image: image2.png]
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x  =  50

7.   [image: image6.png]


x  +  7  -  [image: image8.png]


x  =  15

8.   3v  -  9  =  7  +  2v  -  v
9.   [image: image10.png]
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k  =  [image: image14.png]


k  +  1

10.     2( 6  -  4d )  =  25  -  9d

11.     0  =  0.98b  +  0.02b  -  b

12.     6x  =  4( x  +  5 )

13.     Show the process of solving the following equation. The value of x is 10. Do not check.                    6x  +  8  -  .5x  =  2x  +  43

14.     a  -  4a  =  2a  +  1  -  5a

15.     8w  =  10w  +  2w

16.     – 2( 3x  -  8 )  =  x  +  16  -  7x

17.      – ( x  +  2 )  =  2x  -  4
Problems 18 - 24, write an equation and solve the given problems. Show work.

18.     Eight more than a number is 15.
19.   Twice a number, increased by 7, equals 27.

20.     Four less than a number is 24.

21.     The sum of 100 and a number is equal to the product of 3 and that number.

22.    If 8 times a number is decreased by 20, the result is the same as 3 times the number increased by 80.

23.    Find the length of all 3 sides to the triangle below if the perimeter of the triangle is 104 inches.

                                      

                  x                                    5x                 

                                        2x

24.    Find the length of all 3 sides to the triangle below if the perimeter of the triangle is 87 meters.

                                          9x  -  8

                    3x 

                                  6x  +  5

